
NASTAVNI LISTIĆ                                           

1. Izračunaj i rezultat provjeri zbrajanjem.

   124 898                      567 388                 424  632                 989 783

 -   21 983                    -105 576               - 341  732              - 225  941 
2. Pismeno zbroji.

 125 344                  435 285                    365 777                     89 565

+44  943              + 113 814                 + 303 720                 + 111 421
3. Upiši odgovarajući znak >, < ili  = .

456 325 + 43 722                  125 733 + 203 354

734 267 + 121 922                743 627 + 218 122


286 322 – 144 511                194 544 – 22 733


894 105 – 105 704   
              764 222 -  32 701
   4.    Od zbroja brojeva  12 344   i   89 137 oduzmi  razliku brojeva  

          95 346   i   54 327 .
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